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Bookiet A (50 marks)

For each question from 1 to 25, four oplions are given. One of them is the correct answer. Choose
the correct option (1, 2, 3 or 4) and shade the correct oval on the Oplical Answer.Sheet {OAS).
(25 x 2 marks)

1 Study the flowchant below.

— —
- T Yes Is it a Rowering Yes
Is it a plant? > plant? A-_,| A l
No No

Yes

Does it reproduce
by spores?

Which of the following can be oiganisms, A, B, C and D?

A . 8 | ¢ D
m Mould ~Balsam Bacleria ;libiscus
(2) _Wgalsam ptant ‘ Mould - Bracket Fungiﬁw kmil;za:leria
(3) - Hibiscus planlm Bird's nest fern —Ag;cteria Toad;lool
4) »*Hibiscus plant Moss 8racket Fungi Bacteria
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2 A mimosa plant, as shown below, will fold its leaves when touched or exposed {o heat

Before

This shows that the mimosa plant is a fiving thing because it can

{1) giow

{2) reproduce

{3) respond o changes

{1} move freely from place to place

They each

3 Aaren, Ben, Caleb and Donavan weie each given an identical piece of clay.

conducled a simple experiment to show that the clay has volume.

Name Experiment

Aaron Moided and shaped i into many dilfercnl shapas.

Ben Placed it on a weighing scale and measured its mass.

Caleb Placed it in a sunny spolin the garden and let i dry up.

Donavan Placep it in a beaker of watér and observed the change in thg waler
3 level in the beaker

Whose experiment best-shows that the clay has volume?

(1) Aaron
{2) Ben
(3)  Caleb

(4 Oonavan
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4 The diagrams below show tha grovah of a t:ean plant.
>ﬁ?§a
———— 7‘\ __(_;_*
44
E ? .,/-eri\:
Tq_‘
‘ x
A B c D
Which of the following shows the correct order of the growth of the bean plant?
() C—RB—D—*A
(2) C+D——>B—*A
(3) C— B0 A-—>B
(4) C—A—D—B
5

The table below shows the properties of 3 types of matter.

Property X Y '“;“"‘
b:t;s it have aideﬁnitc shape? gNo VNo N ntr,_—
Canit be comples;f;d? - ﬁ\lo ”“;’s“_” a No )
Can il be seen? Yes - No Yes_ j
Which of the following correctly identifies X, 'Y and 27
X Y ) Z
(1) oxygen water glass marble
(2) water glass marble oxygen
(3) water oxygen B gilvaﬁs:;a‘r‘ﬁ»evw
()] ) glass Eble‘ -l‘_—d;xygen water
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6 Calvin placed two objects, X and Y, which were made of different malenals, on a balance.
He observed that the balanca tilted towards its left, as shown In the diagram below.

Y

balance

Based on his observation, which of the following conclusions can Calvin make?

(1)
(2)
3
(4)

7 Mark had four magnets, P, Q, R and S, suspended on stri
¢lose lo a box of thumblacks as shown in the dia
an equal distance away from the thumbtacks.

He obsorved the number of thumblacks that each magnel was able to
his findings in the table below.

X has a grealer mass than Y.

Y occupies more space than X.

Both do not have definite shape.

X is lighter than Y because it is smaller.

oo >

A and B only
B and C only
C and D only
A and D only

ngs. He brought the magnets
gram below.  All the magnets were placed

sting

magnet Q magnet R

’J/ - magnet S

————- box

d{d ‘&*“')z‘{)f’id“i-‘,fd’ﬁ‘ﬁ" "(-‘-.‘!:{N ———- thumbitack

agnetP .

atlract and recorded -

Magnet P Q R

Number of thumbtacks

attracted 2 3 3

Based on the results in the tabls, which of the
Mark can make?

(M)
(2)
(3)
(4)

following is the best / most likely conclusion

Small magnets are weaker than big magnets.

Shorter magnels are weaker than longer tnagnels.
The strength of a magnet is dependent on its length
The strength of a magnet is not dependent on its size.
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8 Torn carried out an experiment involving an iron bar, an aluminium sheot and a magnet as

shown in the diagram below.
FB m_.__z iron bar

— aluminium sheet

--  magnel
4

When Tom held the magnet a distance below the aluminium sheet and moved it in the
direction of the arrow, the iron bar moved in the same direction as the magnel.

Based on his observalions, which of the following conclusions can Tom make?

A Iron is a magnetic material.

B Like poles of two magnets repel.

C Magnetic attraction can act from a distance.

D Magnetic attraction can pass through magnetic material.

4] A and C only
(2) 8 and C only
(3) B and D only
(4) A and D only

9 Which of the following shows the correct way of making an iron nail into a temporary
magnet?
oy T T @ T T
. PN
/| —————y ——
7 ===
(3) @ T ' 7 T
_,/ b
——7 ==
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10 Three bar magnets PQ, RS and XY are arranged as shown below,

[P

Q|R

s | x

]

Which one of the folfowing arrangoment of magnels is not possible?

ACS (Jdunion PS SAT 2016
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1 The diagram below shows the human digestive system.

In which parts of the digestive system are digestive juices presant to help with the breaking
down of food inlo simpler substancaes?

{1) I and R only

(2} Q. Rand T only
(3} P. R and S only
{4) P,Q,Sand T only

12 Dilion coaled he underside of a few leaves from a polled plant with a thick layer of oil. He
placed the plant in 3 sunny spot in the garden and continued to water il daily.

After a week, he noticed that all the leaves that were coated wilh oil turned yellow while the
leaves that wera.nol coated with oil remained green and healthy.

What could be the reason for the leaves that were coated with oil 1o turn yellow?
(1) They absorbed the sunlight and turned yellow.
(2) They were not able to absorb the waler vapour in the air.

3 They were not able to exchangs gases with the surrounding air.
{4) They were not able to distribute food made to other parts of the plant.
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13 Cayden conducted an experiment using 4 identical flowering plants. He covered a

particular part of each plant with a plastic bag before placing them into a container of red-
coloured water.

container
vith plant

plastic bag.

~~ plastic bag
red-coloured B e red-coloured
water 34 water
& } . CoMainer _
g i with plant
Plamt C planl D

After 2 days, he noticed that more than 1 flower had red stains.
Which of the follovang plants most tikely had red-stained flowers?
(1) Plant A and D only

(2) Plant B and C only

(3) Plant A, B and D only
&) Plant B, C and D onty
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14 Ten people were trapped in an elevalor for 20 minutes due to a power failure. Tha lights
and ventilalion fans in the elevator were not working as well.

Which of the following correctly show the changes in the amount of gases in the elevator
after 15 minutes?

Amount of oxygen | ot e water vapour |
%)) increases decreases mereases
(2) decreases increases increases
3) increases decreases decreases
(4) decreases increases decreases

15 The diagram below shows the blood flow in biood vesselsg W, X, ¥ and Z in a human
circutatory systern.

» lungs
w X
heart
zZ Y
olher parts .
ofthe &
body

The graph below shows the composition of carbon dioxide for esch of the

blood sample
taken from W, X, Y and Z

Volume of carbon dioxide (cm?)

»

=

Blood sample
|
W X v 2 from blood vessel

Which one of the bars shows the incorrect composition of carbon dioxide in the blood
sample?

(1) w

(2 X

(3 Y

(4) Z
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16 Moarcus fisted some information aboul three different cells, P, Q and R.

Pants of a cell CollP Cell Q Cell R l
Cell wal e ~_ Yes ...Yes |
Nucleus | Yes Yes Yes

Chloroplasl No No Yes

Based on the intormation given above, which of the following slatements describe(s) cells
P, 0 and R correctiy?

A Cell P can be an animal cell.
8 Cell Q can possibly be taken from a root of a plant.
c Cell R is able to make food for the plant.

(1) B only

(2) Aand C only
{3y BandC only
(C}] A,BandC

17 Tessa set up an eleclromagnel as shown below.

attery — . .
pattery iron nai

— 10 colls of wire

Which of the following can increase the strength of the elsctromagnet?

Using a longer iron nail.

Increasing the number of batteries used.

Using a nail made of silver instead of an iron nail.
Increasing the number of coils of wire around the iron nail.

OOw >

&) A and C only
{2) 8 and C only
(3) B and D only
{4) A and D only
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18 Jayden set up an elecirical circuit in an experiment to sound a buzzer. He tested if the
buzzer nngs with various combination with switches S1 and 2 opened, closed or opened
and closed. His results are shown in the table below.

Switch 51 Switch $2 Does the buzzer ring?
opened ] closed __Yes o
___tlosed . opened . No
opened opened No
closed ~__ closed Yes o 7]

Based on the results, which of the following circuits did Jayden use for the set-up?

(1 ) ‘ T
—OO—] ¢ -~
buzzer S1
52
@ ) ' i
f——
S2
51 I buzzer ﬁ)
v 1
S2 I L
buzzer (j ' 51 I
“ |
1
S2
51
[
[ ____bwzzer _ ,
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19 A circuit diagram is shown below.

S e

|
&
Y

cégj___n."____.,gfg,44‘___A

Whal is the least number of switches that have to be closed in order to have ail the bulbs

light up?
n 1
@ 2
3) 3
@ 4

20 Study the diagram balow.

Which of the following statements are true aboul the light bulb?

A Part L is usually made of tungsten.

B Part K is soft, flexible and transparent.

C Part M and N must be conductors of eleclicity.

D Part L gives off light and heat when there is electricity flowing through it.

(1) A and D only
(2) B and C only
(3) A, C and D only
(4} A B CandD
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The graph below shows the relationship between the number of batteriez and the

21,
brigghiness of the lighl bulb in an electiical circuit.

»

Brightness
of
fight bulb

> Number of batteries

Which of the following statements correctly describes the graph above?

The number of batleries depends on the brightness of the light butb,
The brightness of the light bulb increases as the number of batleries increnses.
The number of batleries increases as the brightness of the light bulb decreases.
The brightness of the light buib decreases bul the number of batleries increases.

(1)
(2)
(3}
(4)

22 Two different shadows, X and Y, were cast by an object when a light was shone on it from a
different direction each time. The shadows are shown in the diagrams below.

X Y
Which of the following objects could have cast Ihe shadows, X and Y, as shown above?
M (2) '
h\
r” > T
i
i
it o
A
]
&) &)
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23 The diagram below shows a man walking down a street from Point Y o Point Z on a dark
r_;ight. There were 4 streel lamps along the street but only one streel lamp was actually
lighted up. The streettamps wera the same distance apart from each cther.

lamp A lamp B lamp C lamp D

Yﬁ-_*

The graph below shows how the length of his shadow changes from Point ¥ to Point Z.

2

Length of ‘r
man's shadow {m)

R f f i - -+ Position

lamp lamp  lamp lamp
A B C D

Based on the graph above, which of the streét lamps, A, 8, C, or D, was lighted up?

1} Lamp A
2) Lamp B
W3) Lamp C
4) Lamp D
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24 Four identical iron blocks were heated to a temperature of 100°C. Each block was then
dropped Into a beaker of watar as shown in the diagram below. Each beaker contained a
different amount of water, at a different temperature.

iron

Beaker A block Beaker B Beeker C  block Beaker D
50 mi 100 ml 50 ml 100 m)
a0°c ag°c 60°C 60°C

Which of the following correctly indicales the beakers wilh water at the highest and lowesl
temperature 1 minute after the blocks were dropped in?

Walter with ;\'latcr with
Highest Temperature Lowest Temperature
(1) Beaker A o Beaker D
(2) | Beaker B ) Beaker C‘ -
{3} V Be;(o:() o W‘Beake;B‘ o
{4) B 7 Beaker D | | B ;”a"k:;—l;_ —————
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25 When Sally went to the kitchen to get berself a

17

stuck inside glass B, as shown in the diagram below.

Which of the methods shown below wauld best enable her to se

in tha shortest tme?

e

—— - glass A

— glass B

glass of water, she found Ihat glass A was

parate glass A from glass B

0

container

- gilass A

e — hot water
ot

(3)

container '

SR W

glass 8

1. = hol water

-~ glass O

{4

(2)

container

freczer

-—— glass B
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Booklet B (40 marks)

For questions 26 to 39, write your answers in this booklet
The number of marks awarded is shown in the brackels [ ) ot the end of each question or pant
question.

28 The classification chart below shows how some animals can be grouped.

Animals l

[ | ]

Group X ‘] Insects ’

- “f (oo
N =
_ |
(a)  Whalis the correct heading for Group X? [1)
{b) Besides laying eqggs, what are 2 other charadclenstics of insects? (1]

 (Go on to the next page)
SCORE
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27 The dlagram below shows the life cycles of a frog and mosquilo,

F
o8 \ Mosquito .
R Val AN

Tadpole = o!age

\__ N

Stage

(a) Based on the life cycles above, stale one similarity and one difference betwesn the
life cycles of bath animals. {1}

(i} Similarity :

(if) bifference :

(b) Name the stages X and Y in the life cycie of the mosquito. [1}
(i) A — slage
(i) Y o slage

{c}.  State 2 differences between stages X and Y in the life cycle of a masquito. (1]

{Go on to the nex page)
SCORE
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28 The diagram below shows a glass cylinder containing 200 cm® of air connected to a pump
containing 50 cm® of air. A valve prevents the air in the glass cylinder from flowing back
into the pump.

plunger

3 .
S50cm’ofair . L - pump

valve
rubber stopper .|

glass cylinder
200 cm®ofair e |

[ e .

50 cm?’ of air goes into the glass cylinder when the plunger is pushed all the way into the
pump. The plunger is pushed all the way once.

(a}(iy Whatis the volume of air in the glass cylinder? Explain why, R}

(i) Has the mass of air in tha glass cyhinder decreased, increased or remained the
same? Explain your answer based on the property of matter. (1}

(Go on to the next page)
SCORE
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In another set-up, a glass cylinder comtaining 260 cm® of air is connected to a pump
conlaining 50 cm® of water. A valve prevents the air in the glass cyfinder from
flowing back into the pump.

plunger
3
50 ¢cm” of water - —  pump
valve
rubber stopper ———]
—————— -glass cylinder

200em?of aif —— 0 )

50 cm? of water goes into the glass cylinder every time the ptunger is pushed all tha
way into the pump.

What would the volume of air in the glass cylinder be after the ptunger is pushed in
all the way? Explain why. §]

{Goonto the next page)

SCORE
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29 Jack placed object X on a wooden toy boat floating on a plastic basin of water as shown in
the diagram below.

S
magnet ’l

front of the hoat

wooden toy boat

object X

plastic basin
of water

When Jack brought the N-pole of a magnet close to the front of the wooden toy bost, the
wooden toy boat moved lowards the magnel.

(@) Why did the wooden oy boat move towards the magnel? Explain your answer. [{]

When Jack brought the S-pole of the magnel close to the fromt of the wooden toy boat, the
wooden toy boal moved away from the magnel.

(b} Based on Jack's observation above, what can Jack conclude about object X7
Explain why. [1]

{c)  When Jack brings the N-pole of the magnel close to the front of the wooden toy
boat, will the wooden toy boat move towards the magnet if object X is made of
copper? Explain your answer, (1)

{Go on to the next page)
SCORE |
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30 The pulling distance of a magnet is the greatest distance from which a magnet is able to
attract an object made of a magnetic material. Tom carried oul an experiment o find the
pulling distance of 3 magnets, X, Y and Z, using the set-up as shown in the diagram below.

steel thumbtack ——— magnet X
& 7

] ¥ |
4 8 ? 10
ruler o 1 2 3 5

Tom placed magnet X at the 10 cm mark of the ruler and a sleel thumbtack at the 0 cm
mark of the nuler. He then slowly pushed magnel X tcwards the thumbtack, stopping
immediately when the thumblack was atracted by magnet X and recorded the pling
distance of the magnel. He repeated the experiment using magnets Y and Z.

The results of his experiment are shown in the table below.

Pulling Distance (cm)_
R

(o) List the magnels, X. Y and 7 according to their magnetic strenglh, fram stronges! to
weakest. (1]

{t) State the refatlonship between the magnete strength of a magnel and tha pulling
distance of a magnet. (1)

Tom placed magnel X on a piece of poper, before sprinkling won filings over mdgnel X and
the ptece of paper. The diagram below shows the pattern formed by the iron filings.

iron filings

-‘,_ ———-— magne{ X

{c)  Tom observed that that there were more iron filings at the two ends of the magnel,

What can Tom infer from this observalion? (4]
-—
_{Gooniathe next page)
SCORE
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31 Study the diagram of the human digestive system below,

(a) Slate the function of pant E of the digestive system. N

{b) The bar graphs below show the amount of digested food in the contents taken from
part B and part C. Draw another 2 bar graphs 10 show the most likely amount of
digested food in part. A and part D. [

1

Amount of
digested food

C 0 Parts

{Go on to the next pag_c_e)
SCORE
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Christopher placed a balsam plant in a beaker with 800m} of water that had been mixed
with blue-coloured food dye. The next day he cut a cross-section of the stem.

6COml of
— blue-coloured
waler

Cross-section of stem
Christopher noticed that there were blue slains on some parts of the cross-section of stem.

{a) Which part of the plant structure in the cross-section of stem was stained blue? [1)

{b) Explain how it is possible for the part mentioned in {a) to be stamed blue. (1]

Christopher wanted to carry out an experiment to find out if the number of leaves of a
baisam plant affects the amount of water taken in by the plant using sel-ups A and B,

{c} Draw and labe! Sat-up 8 in the box below to carry out a farr test {1

_{Go on to the next page)

SCORE
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33 Daniel made the following mode) of the human respiratory system. The balloon in the jar
will expand when the strelched rubber sheel at the boltom of the bell jar ig pulled
-downwards.

__ . glass lube
rubber stopper

balloon

bell jar

stretched rubber sheet

Complete the table below 1o show what each part of the model represents in the human

body system. [2)
| Part of the Human . ]
I_'Mode'l Body System _ Funciion 7 ] _
bell [ar
balloon
. L

{Go on to the next page)
SCORE
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34 The diagram below shows how the respiratory, circulatory and digestive systems in our
body work together. Tha arrows represent the movement of the blood,

Al pans ot the Circulatory System » Respiralory
. System

L 4

Digestive System

{a) Name a substance thatis greater in amount in the blood at Y than the blood at X (1]

(b) Give a reason why the substance in (a) is greater in amount in the blood at Y than
the blood at X. 11}

{c)  State a difference between the blood ot Z and blood at X, {1)

(Go on to the next page)
SCORE
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35  The diagram below shows two plant cells, A and B, as seen under a microscope.

(a) State the difference between Cell A and Cell B. (1}

(b) Name the part labeled X and its function. (1

(c) Which part of the plant is Cell B most likely from? Explain your answer, [1}

{Go on to the next page)
SCORE -~

s
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36 Gabriet used a circuit tester to test a circuit card. He connected the points X and Y of the
circuil tester to the metal pins A, B. C, D and E on the circuit card to see if the bulb would

light up.
E ) Y
X
Al o [
cardboard sheet
B|® ®c
circuit card circut tester

He recorded the resulls of the connection in the tlable below.

() Based on the results, draw lines(s) on the circuil card below

pins are connected.

Metal pins Did the buib light up? |
connected _ L
A D No B
A c | No
c B _Yes
E | B Yes -
E c Yes -
E D o Yes T

to show how the metal

[

k
L 4
AlG ®| o
B|® - T
]
circuit card

Gabriel chanaed the cardboard sheet 1o an aluminium sheet

E.

Al®

8@

L ®in

- ——— aluminiun sheet

®|c

circuit card

(b)  He then showed the circuit card 1o his friend. His friond told him that the circuit card
will not be able to produce the same results as shown in the table above,

Explain why.

ACS (Junior) PS SA1 2016
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{Go on to the next page)
’ SCORE
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37 Benjamin set up a circuit as shown below.

B O
Ly

D

-} object X

(@) He observed that the bulbs light up when he connecled object X 1o the circuit.

Whal is object X most likely made of? State a property of object X that atlows him lo
makae this observation. [1)

{b) Complete the table below to show what happens if one of the bulbs in the circuit

fuses. f2]
Bulb that fusod |~ Bulb{s) that will remain light up )
A .
B.
C
D
(c) Benjamin's teacher said that it is better to connect the ght in the classroom in a
“ parallel arrangement. Explain why. [1}
(Go on to the next page)

SCORE
ACS (Junior) PS5 SA1 2016 4
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Benjamin wanted to add some switches so that he is able to switch on all the 4 buibs or
only 3 bulbs.

(d) Draw a circuit diagram and show where the swilches can be placed in the circuit, ]

{Go on to the next page)

SCORE
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38 Henry made a simple periscope using a cardboard box and two small mirrors as shown in
the diagram below.

object X —@ o :ﬁ,'

mifror

cardboard box

. H ,
mitror ”““*Q}LW g/ énry's eye

(a} Using the periscope, Henry is able to see object X. Draw an arrow { —» } in the
diagram above to represent the path of light that enables Henry to sce object X, [1)

{b} State two propesties of fight that allow Henry's penscope to work f1)

{c} Henry’s classmate, Linda, lold him that light is 'matter. Is Linda correct? Give two
reasons o support your answer. (1)

{Go on lo the next page)
SCORE
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39 The diagram below shows an iron bar Z at room temperature. An ice cube is placed at
point J on the iron bar Z. A temperature sensor connected to a dala-logger was used lo
measura the temperature of the iron bar Z at peint K.

won bar 7 data-logger

/\rdTE lemperature
i be sensor )
i SONH
[\ - —_——
K

(a) After 5 minules, it was observed that the temperature of the iron bar Z at point K
dropped from room temperature 1o 5°C. Explain clearly how this happened. (1]

(b) After one hour, the temperature of the iron bar Z gradually relurned 1o room
lemperature. Explain clearty why this happened to the iron bar 2 {1}

(c) The experimenl was repeated using bars P, Q and R that are dentical to iron har 2
but made of differenl matenals. The temperature of the bars was a foom
temperature at the stant of the experiment. Tho results of the temperature of the bar

after 5 minutes. at point K ara recorded in the table below.

gar | Temperature of Bar |
| afterSmin(°C) |
P 1l 5
Q S R L
R | ]
Whal is the aim of the experiment? (1)
End of paper SCORE
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26. (a) The correct heading for Group X is mammais.

(b) Besides laying eggs, insecls also have six legs and three body
parts.

BOOKLET B

27(a)(3) Both lay many cggs ot a time.

{ii) The life cycle of a mosquito has four stages while the frog has three.

{b}(i) X: Larva stage
(i) Y: Pupa stage

(c} In stage Y the mosquito doés not move but in stage X is moves. In stage X
mosquito eats unlike in stage Y.

Q28(a}{i) The volume of the air in the glass cylinder is 200cm3. Although more air is

being pumped into the glass cylinder, the air can compress for more air to enter.

(it} The mass of the glass cylinder increased. As more air is pumped into the glass
cylinder, the mass increases because all matter has mass.

{b} Atr can be compressed but matter cannot be tompressed and has taken up the
space.
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(129(3) The magnet was attracting object X that was placed on the wooden toy boat as it
is made of a magnetic material.

(b} Jack can conclude that object X is a magnet. Only magnets can be repelled by
other magnets.

() The wooden toy boat will not move towards the magnet. As copper is not o
magnetic material, the magnet would not attract it.

Q30{a) Magnets Y, Zand X.

{b) The more magnetic strength has, the further away the magnetic materials can
be for the magnet to attract it.

{c) The magnet strength is strongest at its ends.

(31(a) Part E absorbs water from undigested food.

(b)

A B C D

(32(a) The water carrying tubes of the stem was stained blue.

(b} The roots absorb the blue-coloured water and transports it through the water-
carrying tubes.
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Q33.

Model | Part of the human body ﬁunction
system

Belt Jar _Ribca_gz

_Proteéts the heart and
other organs and gives the
body its shape.

Allows the exchénge of
gases to take place.

Balloon Lungﬁ

(234{a) There is more digested food in thr blood at Y then the blood at X.

(b} The blood transports the digested food from the digestive system to all parts of

the body before reaching the respiratory system and there will be less food compared
to the blood at Y.

{c} The blood at X has more oxygen compared to the blood at 7.



Q35{a} Cell A has chtoroplast but cell B does not have chloroplast.

{b) The part labelled X is the nucleus. The nucleus controls all the activities in the cell
and passes information from generation to generation.

(c} Cell B is likely to be from the roots. The cells in the roots have no chloroplast as it
is not needed to make food.

Q36(a)
E
) o
Al®
@
.

circuit card

(b) As aluminium is a conductor of electricity, no matter which pin you connect the
bulb will still light up.

Q37{a) Object X is most likely made of a magnetic material such as iron. Object X must
be able to conduct electricity.

{b) A- None
B-Aand D
C-AandD
D-A, BandC

(c} If one bulb fuses in a parallel circuit, the other bulbs will still light up. However if
they are connected in a series circuit when one bulb fuses none of the bulbs will light

up.




Q38(a)

£ 2l mirror
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L ..~ cardboard box
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(b) Light must travel in straight lines and must be able to be reflected by mirrors for the

periscope to work.
(c) Linda is wrong. As light has neither mass nor volume, light is not matter.

Q39(a} Iron bar Z lost heat to the ice cube as iron bar is a good conductor of heat.
Hence, the temperature dropped to 5°C.

(b}The ice cube melted and iron bar 7 gained heat from the surroundings.

(c) To find out which are good conductors of heat.
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